Maths Chilli Challenge

Look at the challenges below, choose a level of chilli you want to start with. If you
feel confident, have a go at the next set of questions. The answers will be published
on Monday.
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Calculate the missing answer.

TThTh H T O
o

11,413

True or false?
TThTh H T O
o o
o
o °
- © o

2 3 3 3 1 False. The correct answer is 24,231.
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Calculate the missing answer.

20,756
True or false?
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False. The correct answer is 22,388.
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Circle the correct answer for the
subtraction.

A.50,835 B.51,834 C.50834 C. 50,834

Use <, > or = symbols to complete
the subtraction.

7 ten thousands and 18 ones
subtract forty-four thousand, 62
tens and 1 one equuais...

70,018 — 44,621 25,396 The answer is 25,397, so 70,018 -
44,621 > 25,396.
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Circle the correct answer for the
subtraction.

98,042 - 83,009 =
A. 15 thousands and 1 one

B. 150 hundreds, 33 tens and
3 ones

C. 15 thousands and 33 ones

C. 15 thousands and 33 ones



